
 25-19 = 

 44-37 =  30-25 = 

SUBTRACTION with borrowing
Solve the following using regrouping:

31
-16
15

112
Since 1<6,
borrow 10

from the other
digit in the
tens place.

31-16 =  15
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23 - 07 = 

 98 - 99  66 - 69 =

SUBTRACTION with borrowing
Solve the following using regrouping:
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 45-38 =
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 11 - 08 = 

 55 - 09  53 - 25 =

SUBTRACTION with borrowing
Solve the following using regrouping:
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 32 - 67 = 
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 15 - 09 =

 23 - 17 =  73 - 19 =

SUBTRACTION with borrowing
Solve the following using regrouping:
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 45 - 29 =
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 16 - 07 =

 10 -09 =  79 - 21 =

SUBTRACTION with borrowing
Solve the following using regrouping:
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 34 - 25 = 
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